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4. The relat1onsh1p between the tu1t10n T, and the number of credits, ¢, at a particular college is given by

() 100+ 220¢ 0<c<6
c)=
800+220(c—-6) 6<c<18

A. What is the tuition for 7 credits?

%1/5 %Z’vé, 7"/ 7N g'fr ;S ELC e

T(7) = 500 + 220(7-) = 950 aredirs s HGRO.
B. If the tuition was $3000, how many credits were taken? o . e
/550 = s00 7 120(c ~&) “*(Séa //g e, tion 1S F1EEC
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/050 = s20(c-¢)
C. What is the domain of this function? -
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D. Give a practical interpretation of the Vertlcal mtercept T(o)= /MC?"C,,}
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E. Give a practlcal interpretation of the slope.

Tle S/C‘/,wé_, =
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5. Sketch H(a)=H,(1-a-At). Label the axes and the

intercepts clearly. The constants are positive.

Hos MO = H,— HsAt o
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6. Solve g(y)=5 for g(y)=+/y*—-16".
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7. Find the domain and range of f(x)= ‘ : x3
x+
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